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TOTAL POINTS

94 / 100

QUESTION 1

1 Problem 1 (25 / 25)

- 0 Correct

- 8 Did not show the technique of reduction (adding

nodes)

- 4 Did not show NP-ness of G

- 25 Blank

QUESTION 2

2 Problem 2 (25 / 25)

- 0 Correct

- 8 (b) not correct/not complete

- 10 (a) blank

- 15 (b) blank/ near blank/ showed nothing relevant

QUESTION 3

3 Problem 3 (22 / 25)

- 0 Correct

- 10 for x1..xkXi, what if there does exist Xm->XjXi,Xj-

>xk but we convert xk-1xk into some Xj first, then

there exist Xm->XjXi

- 12 they are not only ABC

- 20 irrelevant

- 3 almost correct but when combine to new entry

- 18 no recursion function

- 25 blank

QUESTION 4

4 Problem 4 (22 / 25)

- 0 Correct

- 5 (a). No answer of showing an order exists

- 4 (a). Should be the topological sorting of the

shortest path tree of the genenral graph

- 3 (a). It is a general graph, not necessary a DAG.

There could be no topological order in a general

graph

- 1 (a). Doesn't specify what is the order according the

shortest path.

- 10 (b). No answer of showing an order

- 8 (b). Should be topological sorting of the DAG

- 1 (b). No explanation why topological sorting works

- 3 (b). How do you know there must be a edge

between v_i and v_i+1

- 10 (c). No answer

- 10 (c). need to prove that such Ea-Eb alternation

appears at most n/2 times in any shortest path. Each

phase, at least one node in Ea/Eb is accurate

- 4 (c). Not a correct proof why Ea-Eb alternation

appears at most n/2 times

- 3 (c). Didn't show that any shortest path is at most n-

1 edges and so there are n/2 alternations

- 3 (c ) Didn't show in each phase, at least one node

in Ea/Eb is accurate

- 3 (a). you try to give an algorithm. However, you

didn't show the algorithm will terminate eventually

with the desired order. The coorect answer should be

the topological sorting of the shortest path tree of the

genenral graph

- 4 (a). You didn't prove that after putting k edges,

f(v)s for other nodes will not change. In fact, f(v) may

change and your poof is not correct.
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